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I Expenditures Capitalization Period I Weighted ·Average I 
i 

I_ Date Amount Accumulated Expenditures 

Feb,l $360~000 io /11- ~ .nn t'")() )'-.-'v ~->- 0 '· ' 

July30 4 ln. r: 540,000 ' i) £)_..,f; .. ~XJO 

Aug. 31 450,000 3 /11,; \ \ -~l. . .S on 
Oct 1 450,000 rz. I 1 z '.:\-S,, ooo 

Nov.1 600,000 \ /Vi. So ,cx.=-u 

Nov. 30 100,000 '() I n. I 0 
Total Weighted-Average Accumulated Expenditures $ (-:--{- \ -)_ Sz:ic~·. . - . I \ 

\: J ' 

c 

.. _______ , 

]:tequhed 
a) Compute the weighted-average accumulated ex2enditures gualifying for capitalization of 

interest cost for 2014, using the following table. (6 points) ~ 

'1 Ip l()CCJ x ~ 
I~ 

Goo100.J v ...L '~ 
©------ 

~~ ~ 
~ 

In or&l\>ro he]12_fuw.nce the construction, Pinar issued tl f~owirH! during: 2014: 
\ ~~~)G9nstrnctio~ .. anu·f~~nrin~ facility loan i~~~~Febrnary }_,_ 2014, 2-y_ear,12% " . 
\'1nLerest. navable annually Decemberxl , · ~ : ~ 
\4.ddit~o·n~I }nformation is provided for other debt outstanding as follows: '--'- ..,·;c~'(;\ f'i,<.,~ 

(1. $)00,000, 10-year, 10% bond, December 'U, 2013, interest payable annually. 1<31<l-<?lil·,?· . '' /2 $50,1()00, 12% note payable, 5-year, issued January 1, 2014, interest payable annually ·G: 00_0 
r . I 

Date Payment I 
February 1, 2014 $360,000 

Julv 30. 2014 <;'./, (\ ()()(\ 
~-·--;-'..f 

_i1v,vvv 

~t31,2014 450,000 

October 1, 2014 450,000 
<: 

lNovember 1, ~014 600,000 
,. 

I November 40, 20lt!.d) )GQ,00~ 
I r~ 

, __.;;> 
I 

... ..-., 
' 

;;,c fr~) 

PART l - Essay Questions 
Question 1 (15 points) 
Early in 2013, Al- Pinar Manufacturing Dairy products Co. engaged Nabali & Fares 
Construction Co. to design and construct a complete modernization of Pinar's manufacturing 
facility. Construction was begun on February 1, 2014 and was completed on November 30, 2014. 
Pinar made the following payments to Nabali & Fares Construction Co. during 2014: 
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c) Prepare the journal entry to record the capitalization of interest. and the recognition of interest 
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A voidable Interest Interest Rate Weighted-Average 
Accum di tu res 

b) Compute the avoidable interest incurred during 2010, using the following table. (3 points) 
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Receivables 
Merchandise Inventory 
Land 

Equipment (net) 
Patent 
Goodwill 
P2. yables (/;> L( .. _.._ b<l> 

Mortgage payables I 6, 
0-> "} j 

Bonds payable · f' 
7'-P~.,..) 

Cash 

December 31, 2014 
I ( 

N et Assets 

t~ \• (;: 
c'i. .., __ .t •• \' """'iJ,.~~-·'O ;._:---.---r 
\)'-''- .. 9· .,_,,,.,\, t. ~---l-~.~~..;:;>"9~ _ _:} , 

Over the first year of operations, the newly purchased division experienced operating losses. In 
addition, it now appears that it will generate substantial losses for the foreseeable future. 
Presented below is net assets information related to Rukab Division. of Bravo Co. on December 
~~ ~~'v ~ 

Ru!rnb Division ? .__:) "'" . -1 '--¬  
/ 0? ":) /~ 

~' /V) ,7 '" 5JCC,~,, 
. $S0,000 ~ · - - - \ ~ :Y 

, Ll.'~,Q!,.}Q "2,_.1,),.C)<')(.) \ .. I 
L> ' \ (\i ' ~.ooo --c~_,·-.('·0 \ '""' 

2.sq~poo ':?i:>{j:~n o \ 
1~ moo 'I' P t)..00 1 

- - ~"° 2I rob ':'1: :~: ~, ·" ·-v \ 
~ --f S' lt5 I ' ', ~--··· ~, J:·'- •. l--2.,~ J00f 

'- ('~ · 00' · ·1• \,tr~;?'JJ) . 

(15 ,000) i.: :l • :,. __ :?.?~) I 

l~ei · .~~~oco \~~~~/ 
It is determined that the fair value of Rukab Division is $~~0~ The re~-;rded amounts for ~ 
Bravo's net assets (excluding goodwill) is the same as fair \.:alu~cept for land which has a fair - . . 

Assets Cost FMV 
./ Cash $100,000 $100,000 
, Receivables 60,000 60,000 
-lMerchandise Inventorv 80,000 100,000 
.. Land 100,000 250,000 

Equipment (net) 70,090 30,000 
Patent -------------- 25,000 , =· =· 
Total Assets $410,000. c;(.1 s Jyl:)Q - - -- 

~ ~ 
•.. 1,,iabilities & S.H.E 

I 

Cost FMV 
Payables 50,000 .. 50,000 --- -- 
Mortgage Eayable 90,000 ..... 70,000 I 
Bonds payable I I ' ' I 100,000 1 1· ('... t)r~n r 

..LU vv•:.1 I .,. 
Common Stock 

I 

··70,000- I --::, ·t;,~-n;;:q I 

Retained Earnings .. 100.D_QO ! ; << .~·': 1,; I ·-------~· --~~-~- 
Total Liabilities & S.ff F. 410,QOO ~'\.--"-J ~~ _.~j s,.. ~{;:_C) ' 

- 

Question 2 (16 Q..oints) , ~ 
On December 31. 2_0p_, Bravo Co. paid·:~\cquire the whole business of Rukab's Ice 
Cream Co., which bec~me a division of Br~o: -- 
Rukab reported the following balance sheet at the time of the acquisition, and in the last column 
the related FMV amounts to each account 
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\ .. _."_ .... b) Prepare the journal entry (if anyj.to record impairment of goodwill a.t December 31, 2014. 
(Spomts) ~\E,s.:~(\') .. 

/ 

0'<>.~S e ~,, -·~...,.,··{,".'\.· 1·1,""'·J­ \ -·\ / . . 
\/ 

C _.~ 

-~·-··-----------~- --------···-- 

:1. 
\ \oj_ .. ~ 

S [~<ooo 
J 

' 'f 

G) o~}cJ 
'.J 

~. 
f s 

a) Compute the amount of goodwill for Bravo_~ra~9n QR.the purchase of Rukabs Ice 
Cream Company (if any) on December 31, 2013. (6 points) - - · 

Required 

value of $50,000 above carrying value, equipment which has a fair value of $5,000 below 
carrying value, receivables which has a fair value of $10,000 below carrying value, mortgage 
payable, which has a fair value of $25,000 above carrying value and bonds payable which has a 
fair value of $15,000 above carrying value. 

/. ; / 
I ' i I , ;~·- 
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4. Rarnallah Municipality owned an idle parcel of real esta!:e consisting of land and a fa~tory v 
building. Ramallah Municipality gave title to this realty to Jun.?-idLCo. as an incentive for 
Junaidi to establish manufacturing operations in Ramallah. Junaidi paid nothing for this 
realty, which had a f~~OOO at the date of the grant. Junaidi should 
record this nonmonetary transaction as a 

d. $48,000. 

\ ' 
3\:. The _ne\V l~~d should be recorded o_n e~ch company's books at 

Rama11ah's books ./Bnze1t's books 
~ .. - a.. $168,000. $150,000. 
\ .. b. $192,000. $120,000. 

c. $210,000. $210,000. 
d. $240,000. $240,000. 

a. $0. 
v'T-;-.,. $6 000 

·;...---·· \..j ' • 

... c. $30,000. 

~· . · h ' 1 ' ...i ' '."" • • rl f . 1 B' . . . 
1l.l'lf:·:e:AG ange was mane, ano oaseu on the nnrerence m appraisco rair values; irzeit paid 
$30,000 ty Ramallah. The exchange lacls,~_9 commercial substance. 7 

\"'--· ... .. .) ~- - .:: . ..,... 
• \' For financial reporting purposes, R~J1la~l~h should recognize a pre~tax gain on this exchange 

~ - 

II 
.r! 

_ .. -~/~/ ,,,.,,., 

'~~<c\'~ 
BirzeH's Landi 

$120,000 
210,000 

Cost and book value 
Fair value based upon appraisal 

Two independent companies, Ramallah Co. and Birzeit Co., are in the home building business. 
Each owns a tract of land held for development, but each would prefer to build on the other's 
land. They agree to exchange their land. An appraiser was hired, and from her report and the 
companies' records, the following information was obtained: " ,.;:::<-· 

Use the following information to answer questions 2 - 3. 

1"'15 bo£J.~., 

~·~"'" __ __c8'-·~-'f;-21:-7 _ 
,-----...... .... ,,, i ..J,, \\' -;:, t~ '\•"· \-''. ';/ .......__.,,.., 

PART 2 - Multip!e Choice Questions (39 points) 
1. On December 1, Nablus Corporation exchanged~ shares of its .ll,5 par value common 

stock held in treasury for a parcel of land to be held for a future plant site. The treasury shares 
were acquired by Nablus at a cost of $40 per share, and on the exchange date the common 
shares of Nablus had a f.a.iL.ma-i±e.LY..aluP~per share. Nablus received $6,000 for selling 
scrap when an existing building on the property was removed from the site.. Based on these 
facts, the land should be capitalized at f ~ ) ('.)~ i ~ Q> e 

a. $74,000. \ \ .. -;·, - b oQ,"" I<"" 
6.A/I.).. r;fo,. , , I C,-SJ.O O"'•' 

b. $80,000. . . 0 
• • "'::-'G ;..1' .. ·J 

.: C. $94,000. -t ' ) g P <> c ,-, ,x(l .·• 
-~-~ .• '!?-·- ." ~ ·. •./ 

d. $100,000. /)- ._) ', 
-: 

' ! . 
\, 
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300,00~ 
750,000~ 
300,000.::::..- 
225,000 ;::::.<. 

$5.025.QOO 

7 

Total. 

Materials used in research and development pjojects 
Equipment acquired that will have alternate future uses in fl,!.lure resea[ch 
and development projects 
Depreciation for 2014 on above equipment 
Personnel costs of persons involved in research and development projects 
Consulting fees paid to outsiders for research and development projects 
Indirect costs reasonably allocable to research and development projects 

7. Birzeit Pharmaceutical Co. incurred research and development costs in 2014 as follows: 
/ 

$ 45000(Jri{/ ,_-..:__ 

. -~ 
-: --.::~ 

6. On March 20, 2014, Climatic c( i:~p.§~~~=Uts .b_oUer with a more efficient one. The following 
information was available on that date:.----_.., k, 

-.. ~t 

Purchase price of ~er $150,000 
Carrying amount of old boiler 10,000 \:/· 
Fair value of old boiler 4,00ff 
Installation ~st of ~r 20,000 

The old boiler was sold for $4,000. What amount shoul~_Climatic capitalize as the cost of 
the new boiler? · --- ·· -"·--· 

-~ $170,000. 
b. $166,000. 
c. $160,000. 
d. $150,000" 

5. On August 18, 2014, Rantisi Co. incurred the following costs for one of its printing presses: 
Purchase of attachment $55,000) :_,,,::-) 
Installation of attachment 5,000 
Replacement parts for renovation of press 18,000 
Labor and overhead in connection with renovation of press 7,000 

Neither the attachment nor the renovation increased the estimated useful life of the press. 
However, the renovation resulted in significantly increased productivity. What amount of 
the costs should be capitalized? , 
a. $0. 
b. $67,000. 
c . ...::-P8,ooo . 

. ,·, .d. $85,000 .. 

a. memo entry only. 
(ID credit to Contribution Revenue for $250,000. 

c. credit to Extraordinary Gain for $250,000. 
d. credit to Donated Capital for $250,000. 
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11. In January 20_10, Silver Stone Mining Corporation pur.chase _ )geral mine for $4J-OO,OOO 
wit_h remov~ble silver ~!Jrpated by geolo i~al surve_ _ '~s: The propertyifas an 
estimated value of $4°ij0':'000 after t e si ver> as been extracted. Silver Stone incurred 
1LJ50,000 of_Q_eyelopme~costs preparing the property for the extraction of silver. During 
2010, 3fililll0 to~ere rem~ and 3QO,OOO tons were sold. For the year ended December 
31, 2010, Silver Stone should include what amount of depletion in its cost of goods s·ora:? 

~- ,~.· 

9. On May 5, 2011, Marrawi Corp. exchanged 2,000 shares of its $25 par value treasury common 
stock for a patent owned by Wassel Co. The treasury shares were acquired in 2010 for 
$45,0(.ib. At May 5, 2011, Marrawi's common stock was quoted at $34 per share, and the 
patent had a carrying value of $55,000 on Wassel's books. Marraw should record the patent at 

a. $45,000. ~" "~' e~\,\_, 
- b. $50,000. -r .r 'A, ./V' b ~,~QR. 

c. sss.ooo. ",)"'-"1°·" P..J:~ i 6'81~ 
. $ vi. -d. '68,000. r-> - 

~ 10.ffeJ-Bireh Manufacturing Company acquired a patent on a manufacturing process on January 
·,,j 1, 2010 for $5,000,000. It was expected to have a 10 year life and no residual value. Al-Bireh 

uses straight-line amortization for patents. On December 31, 2011, the futu:>cash flows from 
the patent were expected to be.$400,000 per yearJQrJg~_J?:e~t ~s. The present value 
of these cash flows, discounted at Al-Birch's ~-:~oo. At what 
amount should the natent be carried on the December Jr;.ZWrtl:m~ sheet? - ~- 

, ..• (.? 

a. $5,000,000 ·' -·· · 
b. $4,000,000 - 

r- :·~.' 
c. $3,200,000 

·a. $2,400,000 

'·· 

:': .... ·' ... 

.. ~ .... 

The amount of research and development costs charged to Birzeit's 2014 income statement 
should be 

a. $1,500,000. ~ 
b. $1,900,000. L .ooe oo 

$2 02 
:;{)010::..,~ ,.. ~ 0 

_ c, $ , s,ooo. ' .o ,..._,i::>(l'"t.:' ..... ttoo,coo 
, d. 4,500,000. .,J-!i\<.i~c~ 

issan Company incurred $3,000,000 ($12QO,OOO in 2009 and $2,200,000 in 2010) to develop 
a computer so~pru_duct. $),000,000 of this amount was expended before technological 
fe~slliimy-wa"S establi~d in early 2010. The product will earn future revenues of $.a,000,000 
ov~r life, as follows: 4010 - $.2..Qill1QQO; 2011 - $2,~00; 2012 - $1.,[illQQ.OQ; 
2013 -- $1,600,000; and 2014 - $.800,000. Whatportion of the $3,000,000 computer software 
costs should be expensed in 2010? 

a. $500,000~ ~ 
b. $690,000. __ , -c. $700,000. 
d. $2,?00,000. 
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15. On September ,l9, 2010, Olive Co. purchased machinery, for $190,000. Salvage value was 
estimated to be $10,000. The machinery 'Nill be depreciated over eight years using the sum-of­ 
the-years-digits method. If depreciation is computed on the basis of the ~eares_.t_JuJLrri9gth, 
Olive should record depreciation expense for 20_11 on this machinery of · 

a. $40,903. ---~- ,--'· \ ,... 
b. $38,845. ,~ Q Q (I 

(?'t) $38,750. \ Qv '}) 0 I/\,(.; !;) '.). V 

d. $35,000. (!) r ~ "<) 09 \ y ' _! 

·· ... -'• .. \. 0 

,' Vi~ 
, 14._ On April ,p/2010, Almonds Co. purchased machinery for $120,000. Salvage value was 

estimated' to be $5,000. The machinery will be depreciated over ten years using the double­ 
declining balance method. If depreciation is computed on the basis of the nearest full mc!}~h, 

~·--- • - ·--- ---- ~31' _ .. Almonds._s.b9uld record depreciation expense for 2011 on this machinery of . - ,~a.~. $20,soo:> .: ··--- -· --:-- ,,-i_·)/·' -' 

i~/ ;\~"(1~! " ~ ' tl\~~~ "~':; cco' 

year, which of the following would be included in the journal entry to record depletion? 
/'.~:- Debit to Accumulated Depletion for $91,800 

/;:-"~_).Debit to.Inventory for $91,800 
~c<-7'"(:~ - Credit to Inventory for $90,000 

d. Credit to Accumulated Depletion for $153,000 

13. Jaber Gaz and Oil Co. acquires a coal mine at a cost of $500,000. Intangible development 
costs total $120,000. After extraction has occurred, Jaber must restore the property 
(estimated fair value of the obligation is $60,000), after which it can be sold for $170,000. 
Jaber estimates that 5,000 tons of coal can be extracted. If 900 tons are extracted the first 

12. Gaza Co. bought a machine on January L2DOO for $300,000. The machine had an expected 
life of 20 years and was expected to have a salvage value of $3Q,.QOO. On Jii!y__1_~ 2010, the 
company reviewed the potential of the machine and determined that irs-undiscmtnte(ff~~_LII~ 
net cash flows totaled $150,D_OQ and its discou!JJ~dJuture ne1_<;_?sh flowsTbt~led $lOS,QQO~· If 
no active market exists for the machine andthe comp--a~-y-<l~es ~ot _pG°il"t.Q=EJi~~s'"' (it, what 

.- ---· / --- ,. _ 
sho_ll__h:LGazarecorc_l_(l_S an impairment loss on July 1, 2010? / , ill ~~-ff- 
-G'-· $ 0 - I -_ ( 111U - > \ 1\ 

, ... :k- ~8 '"'SD _./ '-~~ ' J. ----------u:- :!) 1),2.'.:>U.-- ~=--=,,.. _j 
'---_,..,--<~~--c:---$15,000 _. , r-----\ ------- ~~ 

ti. $53,250t..~ ,- r--_ \_-:\ 

a. $516,800 
b. $456,000 

v-- __s.) $594,000 
---··· d. $673,200 
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1,817 Discount on bonds payable 

b"''"',"'"'''"· ~--~"" -· 
18. Al-Bazzar Company issues $10,000,000of·1.Q-~r, 9% bonds on March i; 2014at 97 plus 

accrued interest. The bonds are d~d Janua~-iJ, 2014~ and pay inWest 01~.I~_.30 and 
December 31. What is the total cash received on the issue date?~ :---- · - · 4-:::0·~·- 

- 

a. $9,700,000 ~ 
b. $10,2.25,000 ~ 

./~,-~~o 
·~ __ -9y' ~o P~~- <(Y) °'-l_.., 

19. Three year 8% bonds of $100,0Q9 !~sued, on January 1, '.!011, are .. ~:: at 102 on 
December 31, 2012. ~-~enses of~I;§re ~_3,000 .. On December 31, 2012, the unamortized 
discount balance is ~1,8JJ, and the\:rrr,EnQrtized bond iss1.le CQS.t.is-!i):c4:QO~ 
The Journal entry to fie recorded by National Company on December 31, 2012 is: 
a. Bonds payable 100,000 e. 

Loss on extinguishment 5,817 1 --.... 
Cash 104,000 'i-. 
Discount on bonds payable 1,817 \Cl 

b. Bonds payable 100,000 ~ 
Loss on extinguishment 3,817 .+ 

Cash 102, 000 

vr:: 
. Jn ·~r~:t-:: .; .,-;. 

.61391 .55839 
4.32948 4.21236 
7. 72173 7 .36009 

.74726 
'"6.0% 

/ 
/ 

Yes 
No 

Yes 
No 
No 

Yes a. 
b. 

Held for disgosal 
Yes 
No 

Held for use 

, 

~- Unde,r U.~. GAAy, restorations of carrying valu_e for l~ng-l~ved assets are per~itted if~ 
asset s fair value mcreases subsequent to recordmg an impairment loss for which of the 
following? &) 

~"- 
~ 

16. 
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Assume the directors decide to declare total dividends in the amount 0£$6qo:ooO-: 2 y~ars 
dividends are in arrears on preferred stock. Assume that the preferred stockis cumulative and 
participating up to 8%. Cr.' .r-'· - - . 

$1,000,000 
~,000,000 _ _,, 
1,000,000 

150,000 ~ \--' 

Jawwal Company's ledger shows the following balances on Dec 31, 2013. 
v ( '-.,., 

6% Preferred stock-$100 par value, outstanding 10,000 shares-, 
Common stock-$100 par value, issued 40,000 shares 
Retained earnings 
Treasury stock (10,000 shares) 

Use the following information to answer questions 22 - 24. 

b. 
c. 
cl. ----~¥==r 

$4,CTOO 
$4,000 $28·000 

I'''· 

$28,000 
$96,000 
$68,000 

$72,000 
$72,000 

a. 
B2.rni~ 
$70',t!OO 

Paid-in Capital Stock 

"'"'1';;;' -'; 

("r, i. ~ .· ~t.i 

(_('1< "-::;;.; 
...-,__ 

\i:y_, /.' 
!) 

21. In 2010, Hi.dmi Corp. acquired@c""'O ~n shares of its own $1 oar value common stock ~t ([8\-·er - - ~ ~-~. 

share. In 2011, Hidmi issued 4,000 f these shares at $25 per share. Hidmi uses the cost 
method to account for its trellii:lir-y stock transactions. What accounts and what amounts 
should Hidmi credit in 2011 to record the issuance of the 4,000 shares? 

Treasury Additional Retained Common 

('-·v 
$304,50\l 

c. 

$405,000 
$343,350 

,., cc, $405,000 
$364,SDO-\ 

\ 

$364,500~ / $377,400 
$304:1500 Ci. 

~102,000 1< 

100,000 
4,217 

'-, 104,000 -------- 

100,000 
6,217 

s1B9nds payable 
Loss on extinguishment 

r . '>Qish 
"".Pfsco\}nt on bonds payable 

Upamo{tized bond issue cost 
d 

( ~ ~ 
. Bondspayable 

Loss dn ~xti11guishment \"'<' I ( 

\~asit'.11 
I J \..\ Discount on bonds payable 1,-~H/ -- 
Unamortized bond issue cost 40~ 

.~_January 1, 2010: Sakakiny Co. issued its 10% bond: in the face amount of $?z.~00,000, 
which mature on January 1, 2020. The bonds were issued for $3,4Q]._,OO_O to yield 7%. 
Interest is payable annually on December 31. At December 3l, 2010, Sakakiny's 
unamortized bond premium under the two methods shown below would be: 

Effective-interest Method Straight-Line Meth(])«! 
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(Ts)For the year ended December 31, 2013, Al-Rehan Inc. reported the following: 
'".::::/ _?Net income $ 60,000 

/ 

, »:' __ Preferred dividends declared 10,00U·,. 
~ ... Common dividend declared 2,0QQ) _ 

/ / Unrealized holding loss from foreign currency translation 2,000\ hvJ .. .,·I 
Unrealized holding gain from available for sale securities , ~,900)\ 

...... .-·-Retained earnings, beginning balance 80,000~_ 
Common stock ~-"40JT01f 
Accumulated Other Comprehensive Income, 
Beginning Balance 
Income tax rate 

$400,000 
$300,000 
$465,000 
$435,000 

$200,000 
$300,000 
$135,000 
$165,000 

Common Stockholders Preferred Stockholders 

.. ···--·2 .. <.:. __ .. cf 

a. 
b . 

24. Determine how much each class of stock should receive. 

Assume the directors decide to declare total dividends in the amount of $6QQ,DBQ. Assume that 
the preferred stock is non cumulative and participating in distributions in excess of a 8% 
dividend rate on the common stock. 

$400,000 
$300,000 
$384,000 
$360,000 

$200,000 
$300,000 
$216,000 
$240,000 

a. 
b. 
c. 

(,.-oj!,,) _ _..-~ 

23. Determine how much each class of stock should receive. 
Preferred Stockholders Common Stockholders 

Assume the directors decide to declare total dividends in the amount of $600,000. 2 year 
dividends are in arrears on preferred stock. Assume that the preferred stock is cumulative and is 
fully participating. 

$400,000 
$300,000 
$450,000 
$350,000 

$200,000 
$300,000 
$150,000 
$250,000 

c. 
d. 

22. Determine how much each class of stock should receive. 
Pref erred Stockholders Common Stockholders 
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... '. . .. ~ 
,., .... 

/)l , 

a. $G 
, Lh',,. $8n nnn -..~ ~ v, ....... ...,v .... . ~/s:7 $40,000 

"----- d. $31,000 

What is the total amount of cash dividends distributed by Bravo Corporation for the year ended 
December 31, 2013? 

5,000 
Accumulated Other Comprehensive Income, 

Beginning Balance 

$250,000--- Net income 
Correction of understatement of fees revenues 

in prior year after tax ~~· 20,000 
Stock dividendF' QQ,~ 
Unrealized holding loss, on available for sale securities 1,000 
Retained earnings, beginning balance 180,000/ 
Retained earnings, ending balance 300,000J 
Common stock 40,000 

26. For the year ended December 31, 2013, Bravo Inc. reported the following: 

What would Al-Rehan report as total stockholders' equity? 
~"?-'>'·· {( aJi$173,000 

\L~.b. $171) 600 J 
c. $174,000 .,.,? 
d. $173,700 


